


ﬂ o sizadbiniad \-H.hu., How s a theorem different from a postulase?
7. Open-Ended Gitve am cxample of vertical angles in vour bome.

n. Explain why this statement is true:
Umil + me2 m 100 andme) + me2 = 180, then 21 m 23,

] Algebra Find the sabue of cack varisble and the memsure of cach iaiscled angle.
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31. Developing Proof Complete this proal of Theorem 24 by filling in the blanks

ANl right anghes are congruent.
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Proof: By the definition of m_7 w2 X = 90 and ms¥ = 90,

By the Substitstion Propenty, m X = b _? or 2 X = 2 ¥
Nanse two pairs of congrisent angles in cach ligare, Justily your answers.
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15. Developing Proof Complete this proof of Theorem 2.5 by filling in the blanks.

IT two angles are congrusni and supplementarny,
then each is a right angle.




80, A is half as large as its complement, £B.

S1. A s twice as large as its supplement, 2 B.

KL A is half as large as twice its supphement, 2 B.

3. The measure of £ 8, the supplement of £A, is four times the measure of L,
e complemsent of LA,

&4, The measure of 28, the complement of A, it one-sixth the measure of £C,

the supplement of LA,
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